W T AFEH®R (B2 CERk 2749 A)

(1) IMAFEZDRI

YRR 27 4R 9 A ROIMAE$E 8,681 7 9 T A GRIRI4ER A I 2.2%) ThH v | HARREHIL 2,141
BT TN GRIRTERIA H 8.1%) &leoTWET, Fio, #EEEHIL 1,540 1 2 T A ([F 0.9%)
THU, FERT0.719 > TVET,

PARBRE D 5 B | AL Bk IR E 2T 28 70 T A ([FIAB5.0%) THHARBE 2ED 1.3% & 72>
TWET,

(TA) 1 BEORBRE B O HER
21, 700
21, 500
21, 100

20, 900 S av—
20, 700 7@—645—'
20, 500

20, 300 M ——————
20, 100

19, 900 —p—p————— e —
19, 500

48 5A 64 TH  8A 94 10H 1A 128 1A 23 34
W= VP23 == P RR2AEE b= 2B == P K264E . == ERR2THE I

Rk 27 4E 9 H R OREHESREN A 4800 E-141% 282,543 [ ([7] 0.7%) L 72> TWE4, F7-. Frk 27
4 A0SR 27 42 9 H £ CORMENEE D BEH4EIE 40 Yk (A 4.0%) & 72> TWET,

Siz) B2 SEEIREEERE A FHOHER

284

282 A

280 / e ——
278

276 W ,*.ﬁ*.\.
274

272

4  5A 64 TH 8H 9HA 104 11A 12 1A 2H 34
= 2B e SN 2AME e LD = SRR 26 I e ST



(2)  ERBRAGFT AR
Wk 27 - 9 H OLRBRFGATE 1S 4,271 (B Gt A L 3.3%) TH Y | 9 6| BT 21T 3,965
B ([ 4.2%) . FOMmOBEHAE 306 (EMH (FAT7.0%) L7e>TWET,

(fEr) X3 PRERFS AT DOHERS

4,700

4,500 }<

4,300

4,100

3,900

3,700

3,500

45 54 6H 7TH 84 94 104 11H 12 1H 23 3A
W= V23 == P RR2AEE b= 2B == PR 264E T =t W RR2TAE I

(3)  [EHEE DR

Rk 27 4E 9 A DMMAE 1 N Y720 EHE I 183,665 M GHATER A 1.4%) L7e->TERY, 9
B ABEA 3,853 1 ([A] 0.0%) . ARttt GaMlG A2 ETe, ATRIC,) 288,114 [ ([F 8.0%) & 72
STWET,

MAE 1L NSz EREE BRI L THD L, ABETIE, Z2FEN 8.24 ([A0.5%), 11F
M7 HEDY 9.82 ([AIA1.8%). 1 HY7- D EHED 47,644 [ ([F 1.8%) &L7e->THH, APish

TIE, %

RN 483.08 ([7 0.0%) . 11470 A 1.45 (AIA2.5%) . 1 HY7- 0 ERE N 11,571

M (7 5.7%) &72>TWET,

(1) X4 INAFE 1 N47-0 [EREOHER

15,
15,
14,
14,
13,
13,
12,
12,
11,

500

000
500

000

500
000

500
000

500

44 5H 64 7TH 8A 94 104 11H 124 1A 2H 3A
= 2B e SN 2AME e LD = SRR 26 I e ST



(FE1)  GEREERBRERS 3 &5 2 TR A IR D 013 E £ TV RNy,
(JE2)  EREIL, RGBS e R A (AL, ABgSh, R AL RdiR,
AIEEICR D D) TH D,



